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CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q) What is (cosec x — sin x) (sec x — cos x) (tan x + cot x)

equal to ?
(@) smn x + cos x (b) sin x — cos x
(c) 2 d 1

1 g
- In (nt
Co¢ X wix n

siny

[— Sin*\ [ - mtl#) gm™x 4 Gog"x
Uni tos g Smrtst /

et [ g’y / = |
i ( :im) cog X Sinx cos x )




CDS 1 2025 LIVE CLASS - MATHS - REVISION

Q) What is (cosec x — sin x) (sec x — cos x) (tan x + cot x)

equal to ?
(@) smn x + cos x (b) sin x — cos x
(c) 2 d 1

Ans: (d)



CDS 1 2025 LIVE CLASS - MATHS - REVISION

. 'What is the maximum value of
8sin@ — 4sinZ0 ? S

(@) 3
(b) 4
© 8 ¢(1) - 4(1)

@ 12

Smo =

—
-

(1)

PYQ-24-1I



CDS 1 2025 LIVE CLASS - MATHS - REVISION

. What is the maximum value of
8sin@ — 4sin%0 ?

(a) 3
(b) 4
(c) 8
d 12

Ans: (b)

PYQ-24-1I

EXAMS
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What is

(1 + tana tanB)? + (tana — tanf3)? PYQ-24-1I

equal to ? /_/—/—/—\

S I - fan? 2 }/{ fan’of + Fan's — 27

(b) sec’a sec?p i ?‘GW tTd T Tnp — Aimgdang

(c) tana cot’f (l + 'fanlﬁ) ¥ 'fanzﬂ (7&7)2'4 ‘i”)

(d) sec’a tan’f
(14 fan%c)(/-r )

m
»
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What is
(1 + tana tanB)? + (tana — tanf3)?
equal to ?

(a) tanc tan?f
(b) sec’a sec’f
(c) tana cot’f

(d) sec?a tan’p

Ans: (b)

PYQ-24-1I

(@i=]

EXAMS
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Consider the following statements :

; - PYQ-24-1I
I. tan50° — cot50° 1s positive
II. cot25° —tan25° is negative 5 ’\ > ‘fan 0 f
Which of the statements is/are
correct ? v /
Q
@ Tonly 1) fanso’ = fangs® >0 —
(b) II only
0 -
(c) Both I and II ?[o) ‘fm) 650 — ‘famS 7 0 - A

(d) Neither I nor II

(@i=]
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Consider the following statements :
I. tan50° — cot50° is positive
II. cot25° —tan25° is negative

Which of the statements is/are
correct ?

(a) Ionly

(b) II only

(c) BothI and II
(d) Neither I nor II

Ans: (a)

PYQ-24-1I

(@i=]

EXAMS
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If 0 < (a-B) <(a+p) s—:-g-,

PYQ-24-1I
tan(a+ B) = J/3 and tan(a— B) = :ITSP,
then what is tana-cot28 equal to ?
e fan[oH/B) =3 (+p = 60" — (1)
(b) 2
W”(d’-,ﬁ) = L = q’-ﬁ = 3D —:-[7—)

© 3 V3

1 _ 0 . .
@ - A=9¢5 ; p - /5

7‘anl{5° cof (z;w;") z 7an7$°wf30°
pal [(ﬁ) :v\.{i/
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<
IfDE(a—ﬁ)a({x-!-ﬁ)mz, e
tan(a+ B) = \/3 and tan(a-B) = :173’,

then what is tano-cot28 equal to ?

(@ 1
®) 2
© 3

@ —j;

Ans: (c)

(@i=]



CDS 1 2025 LIVE CLASS - MATHS - REVISION
If 64570 4 64°°° = 16
T
where 0 < 6 = —,

then what is the value of tan@ + cot@ ?

(@ 1 " A
$m°0
(b) 2 64 7 64
(c) 3
0]
(d) 4 7 !/T)LO = L
4
Sno = 80

70 = 45

PYQ-24-1I
03”9
= /b
wsle = |
2

-
-
- -

fanys® + cof 45°

f'f'/:@
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where 0 <0 = —2-,

then what is the value of tan@ + cot@ ?
(@ 1
(b) 2

(c) 3

(d) 4

Ans: (b)

PYQ-24-1I

(@i=]
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If
cosecl — cotd = m and sec@ — tan6 = n,

then what is cosecé + sec@ equal to ?

@ %(m%ﬂ b= 45°

(b) (m+n+i+%) m = ‘/i —

(© l[m+ﬂ—*1-*l) . = f.’(.,t-/
2 m n m

(d) (m+n——;—1-—%]

0seey + Secd = V3 +V3

PYQ-24 -1l
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If
cosecl — cotd = m and sec@ — tan6 = n,
then what is cosec6 + secf equal to ?

Ymensds)
— m — —
(@) 2 m n

(b) (m-l—n +i+£]

m n

l m+n—-—1—~*l)
© 2 m n

(d) (m-i-n——l*—l]

m n

Ans: (a)

PYQ-24-1I

(@i=]
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(@i=]

From a point X on a bridge across a
river, the angles of depression of two PYQ-24-1|
points P and Q on the banks on
opposite side of the river are o and B
respectively. If the point X is at a
height 4 above the surface of the river,
what is the width of the river if « and
B are complementary ?

Width of Tivey

(a) 2h(tana + cotq) = PR+ RQ
(b) Htana-tanfl —
(c) hcota-cotf b PR X/

(d) hseca-coseca 'fm { = _6___,
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heof x + hTang
f[wf'H 'fa'ov{l

Y -)
S of $im &




CDS 1 2025 LIVE CLASS - MATHS - REVISION

From a point X on a bridge across a
river, the angles of depression of two
points P and Q on the banks on
opposite side of the river are a and f8
respectively. If the point X is at a
height & above the surface of the river,
what is the width of the river if o and
B are complementary ?

(a) 2h(tanc + cota)
(b) Htana-tanfl
(c) hcota-cotf

(d) hseca-coseca

Ans: (d)

PYQ-24-1I

(@i=]

EXAMS
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. If p and g are the roots of the equation

x2 — sin?0 x — cos?0 = 0, then what is PYQ-24-1i
the minimum value of p? + ¢* ?
I =~ ot

@) % /)f-z = &n“0 /)z
(b) 1 /,2_}22 = (/Hi)” —~ ij,

3
(c) > = (S;nzﬂ)l - (-—(9320)
d) 2

= sy + 4o’

0=0"— 0+ 3 =

y 2
6= — 0+4 = A

0= 1L _—-ylf'(D):

/

/



CDS 1 2025 LIVE CLASS - MATHS - REVISION

. If p and q are the roots of the equation
x% — sin20x — cos?@ = 0, then what is
the minimum value of p? + ¢*?

1
(a) E
(b) 1

3
() 5‘

(d) 2

Ans: (b)

PYQ-24-1I

EXAMS
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Let ABC be a triangle with area 36

square cm. If AB=9cm, BC=12cm PYQ-24-1I
and ZABC=60, then what 1s cos0
equal to ?

5 4 Area = :?L(a)(l;) gin ¢
(@) —

3

e ¢ v

5
® - / (2 L 1 (6) (C) SnA

1
© 3 Oy

{ 0

) 2 (C) (a) Smp

@ 3
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Let ABC be a triangle with area 36
square cm. If AB=9cm, BC=12cm
and ZABC=60, then what 1s cos0
equal to ?

NG
(a) EY

5
N

1
(c) 3

2

(d) 3

Ans: (a)

PYQ-24-1I

(@i=]
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What is

(cosG —sin@ +1
cos@+sinf-1

) (cot@— cosecB)

equal to ?

def 0= 45°
@ -1
G L - Loy
© 1 Vo o V2
@) 2
L+ L -
V2 V2

PYQ-24-1I
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What is

(cos@ —sin@+1
cos@+sinf -1
equal to ?

(a) -1
(b) O

() 1
(d) 2

Ans: (a)

) (cot@— cosech)

PYQ-24-1I

EXAMS
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Let ABC be a triangle right-angled at B.
Let P be the point on BC such that BP = PC.
If AB=10cm, £LBAP=45° and LCAP=0

A
_ tana+tanf

(use tan(a + B) = I—tan{xtanﬁ]
What is tan@ equal to ? h
@ >

2 b ABC, B
b) = 'fvm (//J'o-f 9) = Iotl0

(0
(©) % | + 7‘01)0; T 3_ "‘7
| - fono /

Lh | —

(d)

PYQ-24-1I

KA\ O

- /zfo o o C

/+ fomg = & - 3 Tand
stng =/ = fomo=
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Let ABC be a triangle right-angled at B.
Let P be the point on BC such that BP = PC.
If AB=10cm, ZBAP=45° and ZCAP=0

tanc + tanf3 ]

l1-tanctan 8

(use tan(a + B) =

What is tan@ equal to ?

1
(a) 5

w|—

(b)

N

|

@ 3 Ans: (b)

PYQ-24-1I

(@i=]
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Let ABC be a triangle right-angled at B.
Let P be the point on BC such that BP = PC.
If AB=10cm, ZBAP=45° and ZCAP=0

tanc + tanf3 ]

l1-tanctan 8

(use tan(a + B) =

If ZACP =y, then what is tany equal
to 7

(2)

b | —

(b)

L | =

L | 2

(c)

d 1

(@i=]

PYQ-24-1I

n |%\0
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Let ABC be a triangle right-angled at B.
Let P be the point on BC such that BP = PC.
If AB=10cm, ZBAP=45° and ZCAP=0

tanc + tanf3
l1-tanctan 8

(use tan(a + B) =

If ZACP =y, then what is tany equal
to 7

(2)

b | —

L | =

(b)

L | 2

(c)

@ 1 Ans: (a)

PYQ-24-1I

(@i=]



(@i=]

CDS 1 2025 LIVE CLASS - MATHS - REVISION

Let ABC be a ftriangle right-angled at B.
Let P be the point on BC such that BP = PC. PYQ-24-1I
If AB=10cm, £ZBAP=45° and LZCAP=0

tanc + tanf
1-tanatan B

(use tan(c + f) = ] Consider the following statements : A

I. The line segment AP divides the
area of the triangle 4BC into two /o qsﬂ ]
equal parts v

II. The perimeter of the triangle APC )
is more than 46 cm . U 4

P < c'
[II. The area of the triangle APC is B /0 P JO
50 square cm v

. , L
Which of the statements given above @ ar (P ABP) - :{_ }’0 AO = 50 m

are correct ? —
(a) Iand II only

(b) II and HI only

av[bﬂpc) 3 aT[PABC) - ar[bﬁBP)
s @ / _ Lx2o x10 — 50 = Soem?
() 1, I and III — T T
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lofW-rﬂ

et 10V + Iov2

/o[wﬁ- +Jl)
10[” Q35 F 14y

/o(q.écz/] ~ Y66k 7 Hbom
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Let ABC be a ftriangle right-angled at B.
Let P be the point on BC such that BP = PC. PYQ-24-1I
If AB=10cm, £ZBAP=45° and LZCAP=0

tanc + tanf
1-tanatan B

(use tan(c + f) = ] Consider the following statements :

I. The line segment AP divides the
area of the triangle 4BC into two
equal parts

I The perimeter of the triangle APC
is more than 46 cm

III. The area of the triangle APC is
50 square cm

Which of the statements given above
are correct ?

(a) Iand II only
(b) II and HI only
(c) I and III only

Ans: (d) (d T, 1I and III

(@i=]
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1+2smécosb

Q) If a° = 1= 2510 cosd’ then what 1s the value of
a—+1
£ 9 -
(a) sec O (b) 1
(c) 0 (d) tan 6
g = 6o°
L - [+ .‘B. 1
a [ Q(a)(q) _ /‘f‘_\(_}. ] ;‘_’_‘fg _(‘“‘/;)9.
- 4 w[_z__) L [ - V5 -
/|4 3
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0+ - A+ie)
a-/ Ltvh— |
S PN I A
[+V8 -8

Y

3 - 33+ 3 -3
(n*- ()"
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Q) If a° =

a+1?

a—1
(a) sec O
(c) 0

Ans: (d)

1+2smécosb

1—2sm & cosf

> then what 1s the value of

(b) 1
(d) tan 6
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot 75°.cot 80°.cot85° .

5 > 1S
COS + COS +
(cos? 20° 70°) + 2

(@)

1
5 (b) 3 (©) NG d —
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Q) The value of
cot 5°.cot10°.cot15°.cot60°.cot 75°.cot 80°.cot85° .

1S
(cc»s2 20° + cos” 70°)+ 2

(@)

1
b) = — 4 M=

Ans: (d)
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X
Q) If sin 17° = —, then sec 17° —sin 73° is equal to

y
2
y M
(a) y2 —X2 (b) (X«Jyz —XQ' )
X X2

N L
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X
Q) If sin 17° = —, then sec 17° —sin 73° is equal to
y

y y* .
(a) y2 —X2 (b) (X«\/yz —XQ' )
X X2

© (y,/yz _xzj (@ (ny—x )

Ans: (d)



(@i=]

CDS 1 2025 LIVE CLASS - MATHS - REVISION EXAMS

Q)If 0° < 6 < 90°, then all the trigonometric ratios can be
obtamned when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios is given



CDS 1 2025 LIVE CLASS - MATHS - REVISION EXAMS

Q)If 0° < 6 < 90°, then all the trigonometric ratios can be
obtamned when
(a) only sin 6 1s given
(b) only cos 6 1s given
(¢) only tan 6 1s given
(d) any one of the six ratios is given

Ans: (d)
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Q) If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 by 2"~7
(C) 211—1 (d) 211
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Q) If cos x + sec x = 2, then what cos" x + sec” x equal to,
where n 1s a positive integer?

@) 2 by 2"~7
(C) 211—1 (d) 211

Ans: (a)
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2
3—tan” A4
If =K
Q) 1-3tan” 4
where K is a real number, then cosec A(3 sinA — 4 sin°A)
1s equal to

@ 2K
VoK1
2K 1
v . —< K <3
(b) K_l,where 3
2K 1
() ——, where K<< or K>3
K-1 3
@ 2K
K+1
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2
3—tan” A
If =K
Q) 1-3tan” 4
where K is a real number, then cosec A(3 sinA — 4 sin°A)
1s equal to

@ =2
VoK1
2K 1
—<K<3
(b) K_l,where 3
2K 1
(©) , where K <= or K >3
K-1 3
@ 2K
K+1

Ans: (c)
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Q)If sin 6 = J3 cos 0, 0° < 0 < 90°, then the value of

2 sin? O + sec?0 + sind secO + cosechd is:

@ 33+éo\/§ ) 19+20\/§
© 3341043 - 19+104/3

3 3

EXAMS
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Q)If sin © = /3 cos 0, 0° < O < 90°, then the value of

2 sin? O + sec?0 + sind secO + cosechd is:

@) 33+é0£ ) 19+éo\/§
© 33+;0\/§ @ 19+;0J§

Ans: (a)

EXAMS
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Q) What 1s the value of

4c0s(90 — A)sin® (90 + A) | -]
{- -
45in(90 + A)cos’ (90 — A)
L - 29
[180 + SA) '
COS 2

@ 1 (b) -1 () 0 (d 2
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Q) What 1s the value of

 4¢0s(90 — A)sin® (90 + 4) |-
4 - -

 4sin(90 + A)cos® (90 — A)

(180 + SA)
COS >

@ 1 (b) -1 () 0 (d 2

Ans: (b)
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Q)If the sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(a) 90° (b) 120°
(c) 135° (d) 150°



CDS 1 2025 LIVE CLASS - MATHS - REVISION EXAMS

Q)If the sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@) 90° (b) 120°
(c) 135° (d) 150°

Ans: (b)
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan® x + cot® x,
then what 1s the value of k?
(a) 8 (b) 7
(c) 4 (d) 3
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Q)If (sin x + cosec x)* + (cos x + sec x)*

= k + tan® x + cot® x,
then what 1s the value of k?
(a) 8 (b) 7
(c) 4 (d) 3

Ans: (b)
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Q)If secH —cosecO = % then what is (sin© — cos9)
equal to
(a) Only -2 (b) Only %

(c) Both -2 and (d) Neither % nor -2

2
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Q)If secH —cosecO = g then what is (sin© — cos9)

equal to
(&) Only -2 (b) Only _;.
(c) Both -2 and % (d) Neither% nor -2

Ans: (c)
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cos> 20° — cos® 70° _
3 3 1S

sin” 70° —sim~ 20°

1 1
@ 5 O 7 ©!

Q)The value of

@) 2
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cos> 20° — cos® 70° _
3 3 1S

sin” 70° —sim~ 20°

1 1
@ 5 O 7 ©!

Q) The value of

Ans: (c)

@) 2
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Q) If cosec O — sin © = p° and sec 6 — cos 6 = ¢°, then what is
the value of tan 67

P 9 2 2
(@) p (b) P (¢) pq (d) pq
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Q) If cosec O — sin © = p° and sec 6 — cos 6 = ¢°, then what is
the value of tan 67

P 9 2 2
(@) p (b) P (¢) pq (d) pq

Ans: (b)
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Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) B < 30° (b) 30°< 6 < 45°
(€)45°<0< 60°  (d) 60°< 0< 90°
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EXAMS

Q) From an aeroplane flying about a
river at an altitude of 1200 m, it is
observed that the angles of
depression of opposite points on the
two banks of a river are 30° and 6. If
the width of the river is 3000 m, then
which one of the following is
correct ?

(a) B < 30° (b) 30°< 6 < 45°
(€)45°<0< 60°  (d) 60°< 0< 90°

Ans: (c)
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